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7141354413
1/18309( 9685 | 3] 7| 5| 6| O] 5] 9 19|Mec2 / RM1, TCD, RM2, OM1
218309 9703 | 7| 9] 9| 8] 9| 9/10| 8,47| 30| -/RM1, RM2
3| 8309| 10032 4| 7] 9(10] 6(10]10 23| -/ RM2, MN1, OM1, PAC, Tribologie, VSRI, Ed fiz3
4]8309| 9767 | O| 6| 6| 6| 4] 6] 9 19(Mec1, Mec2, Termoth1 / RM1, TCD, RM2, OM1
5(8309| 9771 | 3| 8] 5 0] O| 6]10 14|Mecl, Mec2 / RM1, RM2, PAC, VSRI, Ed fiz3
6[8309| 9777 | 4| 9| 9| 6] 9| 8[10 23| -
7| 8309| 9801 | 4| 8| 8| 9| 6] 7| 9 23| -/RM1
8[8309| 9868 | O| 8| 4| 7| 4| 8| 9 16| - / RM1, Mecanisme, RM2, OM1, VSRI
98309 9881 | 3| 8] 5 6] 5| 7] 9 23|Mec1, Mec2 / RM1, RM2, OM1
10| 8309( 9899 | O| 8| 5[ O 6] 6] 8 18[Mec1, Mec2 / RM1, RM2, OM1, VSRI, Practica dom
1118309 9906 | 3] 9| 6] 7| 5] 6] 9 23|SIM1, Mec2, Grafica3 / RM1, Mecanisme, TCD, RM2
12|8309( 9914 | O] 7| 6 6| 7| 8]10 23|SIM1, Mec1, Mec2, Termoth1 / RM1, RM2, OM1
13| 8309 10805( 9| 9| 8] 7| 8] 9| 6| 8,13| 34|Termothi, Chimie / Termoth2-5, OM1, PAC, VSRI, Practica dom
1418309 10048 | 7| 9] 8| 9| 6|10[10| 8,27| 30| -
15/ 8309| 9988 | 7| 9] 9| 7| 8| 8/10| 8,03| 30| -/VSRI




